
SAP ABAP table V_T8JZD {Generated Table for View}

V_T8JZD

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

CRPTAXCODE [CHAR (2)]

BSTRUCT [CHAR (4)]

OFFCC [CHAR (10)]

AFABE_HAN [NUMC (2)]

AFABE_NB [NUMC (2)]

AFABE_BI  [NUMC (2)]

WBIND [CHAR (5)]

SELTAB [CHAR (30)]

SELFLD [CHAR (30)]

KURST [CHAR (4)]

OFFPCOCC [CHAR (10)]

OFFPCOPROJ [NUMC (8)]

OFFPCOORNR [CHAR (12)]

AFAPL [CHAR (4)]

AM_CORP_RI [CHAR (2)]

WAERS [CUKY (5)]

TVARCURR [CHAR (4)]

TVAROLD [CHAR (4)]

AUFK

MANDT [CLNT (3)]

AUFNR [CHAR (12)]

 V_T8JZD-OFFPCOORNR = AUFK-AUFNR 
0..N

1

CSKS

MANDT [CLNT (3)]

KOKRS [CHAR (4)]

KOSTL [CHAR (10)]

DATBI [DATS (8)]

 V_T8JZD-OFFCC = CSKS-KOSTL 

0..N

{0,1}

 V_T8JZD-OFFPCOCC = CSKS-KOSTL 
0..N

{0,1}

DD02L

TABNAME [CHAR (30)]

AS4LOCAL [CHAR (1)]

AS4VERS [NUMC (4)]

 V_T8JZD-SELTAB = DD02L-TABNAME 
0..N

0..N

DD03L

TABNAME [CHAR (30)]

FIELDNAME [CHAR (30)]

AS4LOCAL [CHAR (1)]

AS4VERS [NUMC (4)]

POSITION [NUMC (4)]

 V_T8JZD-SELFLD = DD03L-FIELDNAME 
0..N

0..N

PRPS

MANDT [CLNT (3)]

PSPNR [NUMC (8)]

 V_T8JZD-OFFPCOPROJ = PRPS-PSPNR 
0..N

1

T000

MANDT [CLNT (3)]
 V_T8JZD-MANDT = T000-MANDT 

0..N

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)] V_T8JZD-BUKRS = T001-BUKRS 0..N

1

T007A

MANDT [CLNT (3)]

KALSM [CHAR (6)]

MWSKZ [CHAR (2)]

 V_T8JZD-CRPTAXCODE = T007A-MWSKZ 0..N

0..N

T093

MANDT [CLNT (3)]

AFAPL [CHAR (4)]

AFABER [NUMC (2)]

 V_T8JZD-AFABE_BI = T093-AFABER 

0..N

0..N
 V_T8JZD-AFABE_HAN = T093-AFABER 

0..N
0..N

 V_T8JZD-AFABE_NB = T093-AFABER 
0..N0..N

T094A

MANDT [CLNT (3)]

WBIND [CHAR (5)]

 V_T8JZD-WBIND = T094A-WBIND 

0..N

0..N

T096

MANDT [CLNT (3)]

AFAPL [CHAR (4)]

 V_T8JZD-AFAPL = T096-AFAPL 

0..N

1

T8JJ

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

RECID [CHAR (2)]

 V_T8JZD-AM_CORP_RI = T8JJ-RECID 

0..N

1

T8JS

MANDT [CLNT (3)]

BSTRUCT [CHAR (4)]

 V_T8JZD-BSTRUCT = T8JS-BSTRUCT 

0..N

0..N

TA1TV

MANDT [CLNT (3)]

TRANSV [CHAR (4)]

 V_T8JZD-TVARCURR = TA1TV-TRANSV 

0..N

0..N

 V_T8JZD-TVAROLD = TA1TV-TRANSV 

0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)]

 V_T8JZD-WAERS = TCURC-WAERS 

0..N

1

TCURV

MANDT [CLNT (3)]

KURST [CHAR (4)]

 V_T8JZD-KURST = TCURV-KURST 

0..N

1


